BEAHE (BEE) — 731X (2010 FELER B @ (k)

s T OME ~
d-1) TICB9 2 BB

251 Qij -« Ain
det [
ak1 akj Akn
a1 +cagy -+ Qi +Cagj - Qi + CAgp
=det
Gk e akj e Akn
a | * * a |0 0
0 *
d-4) det | =det | = a-det(A)
: A : A
0 *

d-5) det(AB) = det(A) - det(B)
d-6) det(*A) = det(A)
(ZOWER»S, d-1) ~ 3) (3INBIT 2#EOWTH kD 2 &AL D ZD)

J

24 7.2



R (BEEZ) — 73X (2010 FEE%ER 18 @ ki)

3 2—-v2 —4+45/3 -5
. 1 —6+4y2 3 0 -
1% 7.6. 791 +4v2 DR E K k.
1 2 -1+v3 -1
1 2v/2 1 0

. 778t AR oMWHE d-2, d-3) 2flio TITAIZ AL, d-4) 2> TTHloH A X%
MELLTWL,

3 2—-v2 —445/3 =5
1 —6+42 3 0
=det
1 2 -1+v3 -1
1 2v/2 1 0
AfTHZBESICAA 77— L T1,2,3fTHICMAT, 117HE 41fTHZ ATUHAZ %)
0 2-7V2 -—7+4+5V3 -5 1] 2v2 1 0
et | O —6+2v2 2 0 | _ g O] -6+2v2 2 0
0 2—-2V2 —24+3 -1 0] 2—2v2 —-24++3 -1
1 22 1 0 0| 2—7vV2 —7+5V3 =5

—6+2v/2 2 0
=—det|[ 2—-2v2 -24++v3 -1
2-7V2 —7+4+5V3 =5
217H% (=5) L < 3FHICHA )
—6+2v2 2 0
=—det| 2-2v2 —2+v3 -1
—8+3v2 3 0

(LfTHE2fTHZZHAL, 15IH & 3FIHZ ATURZ 5)
2-2v2 -2++3 -1 1] -2+Vv3 2-2V2
=det | —6+2V2 2 0 | =—det 0| 2 —6+2V2

—8+43v2 3 0 0 3 —8+3V2

e (2 6t2v2
- 3 —8+43V2

=2(—8 +3V2) — 3(—6 + 2v/2)
=2

25 7.2



BEAHE (BEE) — 731X (2010 FELER B @ (k)

fEE 7.7. M 7.3 D177 A, B, C DITHIRZATHAE %2 T (Bl 7.6 Z22FI1C L
T) RO,

8 7.8. RDITFIDITHIAZ KD 7% S0,

1 2 3 -3 -3 2 -3 5
b2 2 1 1 2 1 0 1 1
1 3 4 5 2 3
(1) (2) L 0 1 (3) 11
1 1 1
2 3 1 -4 2 1 0 3
a+b+c —c —-b
BIZE 7.9. 1751 —c a+b+c —a DITHIRZ KD 72 3\,
) —a at+b+ec
fz.
a+b+c —c —b
det —c at+b+ec —a
) —a at+b+ec
(241H%Z 1 4IHICINZ %)
a+b —c —b 1 —c —b
=det a+b a+b+c —a = (a + b) det 1 a+b+c —a
-b—a —a at+b+c -1 —a at+tb+ec
(1fTH%Z 2f7H» 551 &, 117THZ 31THITMAZ %)
1| —c )
=(a+b)det [ 0[a+bt2c —a+b :(a—i—b)det(ai_abjczc _aa:Cb)
0 —a—c a-+ec

:(a+b)(a+c)det( a—f—fj— 2 _a1+b )

=(a+b)(a+c){(a+b+2c)+ (—a+b)} =2(a+b)(b+c)(a+c).

a+b+2c a b
I8 7.10. 1741 c 2a+b+c b DITHAZ KD 72 I 0,
c a a+2b+c
1

PREE 7.11. IEHIFFS A 1S L, det(A™)) = BRD DI LR R LA,

det(A)

26 7.2



